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Physics wiferar
1. The instrument used to measure electric 1. fAgd &RT 710" & forg wgat 4= &1 wed
current is called - T =
(A) Ammeter b (a/ e
(B) Galvanometer W RTHTAY
(C) Charge meter (C) e |y
(D) Voltmeter --f’m ey
2. Angle of incidence and angle of reflection 2. YA DIV UG WRIacH HIVT HI AT gYI6Y
are equal to - iﬂ?ﬂ' ? -
(A) only for plane mirror /W/ DI 7T U P forg
(B) only for convex mirror (B) Pl IOd g & foru
(C) only for concave mirror |y Bad I g9 @ forg
* 1 (D) All of the above @) SwE T @ forg

3. The component that controls the flow of 3. Fga &a @t aweed # faer aRed 57
current in a circuit without changing the gRuer &) faega urr @ A $E

voltage of an electric source is called - 3999 B Ped & —
(A) Variable resistance A it gfeRe
(B) Voltage regulator _(B) drecw fAaT®
(C) Ammeter (C) 3mMiex
(D) Cell @) ¥
4. Image of an object placed at the center of 4, SUA T & THAT Bw W VI TX] BT
curvature of a convex mirror is - yfifde &ar @ —
(A) real and of same size that of the (A) TRAD Td IF] P IR
object
(B) virtual and of same size that of the .@)/m U4 9% B WR
object
: qrfdes T aeg | BieT
(C) real and smaller than the size of the A€ v g
object (D) I Td axg W Bier

= \
(D) virtual and smaller than the size of

the object
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5. A person is unable to se clearly the letters 5. & @fdm @1 50 €A " FH QT o
of a book which is kept less than 50 cm THIS B JER T 7 e <9 2 | o
away. Reason for this defect is - I3 B9 FHT BRI & — P
(A) milking of the eye lens.- (A) 3 o T T & S
(B) excessive curvature of the eye lens B) ¥4 &4 B THA T A
(C) elongation of the eyeball
_A€) 3 Merd o1 FdT &1 Sl .
(D) increase in focal length of the eye
lens BT A E B B g 4G Il
6. An object is placed at a distance of 15 cm 6. 20 AA. IHaT AT AT IAGAA IUT &
from the concave mirror of radius of R B R U ¥ 15 WA g8 W ¥
curvature 20 cm. Image formed will be - 2| e gﬁﬁ—q’ BN — _%r_‘%
(A) Real and larger than the size of (A) draf® vd e A 99
object s
(B) Virtual and larger than the size of /Q)/Hﬂﬂ?-'l’ft!‘q"ﬂga%w . gy
object | | "*%—‘
(C) Real and smailer than the size of () arafa® vd aw] | Bl - =
object _ :\}f
(D) Virtual and smaller than the size of ~ , v/, (_D) STRA T T} B :
object /0 AT
7. In which of the following condition the i'.’. AT UV & W b Ry o 7
magnification of an object placed in front of BT IATqe TIHD T U —
a concave mirror can be positive and less -0 —E -\
than one? U\
(A) At infinity A) ¥Fa w syl
(B) Between C and F (B) C3IRF & 7 o
(C) BetweenF and P ‘Q{F@?PE‘;W
(D) Never possible (D) & N Rufy ¥ g =
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8.. A convex mirror used for rear - view on an

automobile has a radius of curvature of

4.00 m. If a bus is located at 3.00 m from
this mirror, then the magnification of the
image will be -

(A) 4 times

(B) Twice

(©) 0.4 times

(D) 0.3 times ’

9. Alight ray is incident on a rectangular glass

slab  perpendicularly. Which of the .

following statement is true for this event?

(A) The speed of the light ray will

(B)

(©)

(D)

increase but the direction will
remain unchanged.

The speed of the light ray will
decrease but the direction will
remain unchanged.

The speed and the direction of the
light ray both will remain
unchanged.

The speed and the direction of the
light ray both will get changed.

10. An object is placed at a distance of 10 cm

from a convex mirror of focal length 15 cm.

Magnification of formed image will be -

(A) 3 f
, ot & /)
(B]' e "(J _In “\ v/
(€) -15 5
D) 1.5 1o
L]
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8. fhell ares & W @1 g WA P fa
U B drel I<iel ]UUT 1 daehar e
49 2 uld v 99 39 T [ 3\ A
Q@ W R, A gu B ufifde B A
QT 6w F=

g
(B) 27 « "3

© o
(D) 037

9. TP YHY B0 B & HAAHR e W
' sfveraes S el &1 39 T @ Rig
fr=fafag § 9 oF &1 FoA v 87
(A) W for ) a1l 98 AR W

ferem smafafda et

¥
by

-(B} yHTe fver Y A 9 8 SR
g e smRafda e

(C) Y&y fawor & are va feem =1
gRafde |

@/mﬁ%maﬂwwmﬂaﬁf
gSo SR |

10. 159H. $rew g 9 S AF D GHA
10¥H 0 w® o fe w@n 8 PG
yfafde &1 amal| &7 - F o= (€

uw=-10
Al
=3 W 1° v= ¢

v
(€) -1.5 B D T s
+ I 1.3

1A
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11. A concave lens of focal length 20 cmanda  11. 20 A HHE

convex lens of focal length 10 cm are kept 10 A, BFE A arer 3T o w7
in contact. Focal length of the combined w@ | wgF od @ q’iﬁ‘jg m;n
lens will be - ';:_: lo -lo
(A) -10cm Ay 10 A
®) tcm (B) 1034
(C) 20cm ©) 2093
= D) 30¥#H. .

12. A convex lens forms twice enlarged virtual ~ 12. @Y I 9 AT G 10 AAY, T W
image of an object placed at a distance of T@WT%HWWWMM

10 cm from it. Where to place object in IR 2| 39 ofF @ G T B i

f& sa@1 < Ter arafE wfafde a
twice enlarged?

. A j-IO U - ""D
s, [ @ @y 209 NEV

front of lens so that image becomes real and

A 4o v = 2
B) 30cm T;_: oot 7. (B) 3094
(C) 40cm N, £, | (C) 409#H.
@) 50cm N x,\_l B D) S0JA

13. The distant point of a myopic person is  13.

100 ¢cm in front of the eye. What is the
nature and power of the lens required to

.ﬁﬁ“ﬁm‘ﬂ%ﬁ%ﬁ?ﬁ@
ﬁa%mmﬁﬁiﬁmﬁlwm

o ﬁﬁa'?“l‘a‘ganawa;ﬁaﬁm@
SOt B & Bl —
(A) Convex lens of 100 cm focal length
(A) 10094 LaCT :
(B) Concave lens of 100 cm focal ?&‘ﬁﬁmﬁéﬂ
ength ® 10094 P T B e e
(C) Comvex lens of 333 cm focal
length - (©) 333%%.1#\@;&@%%
(D) Concave lens of 33.3 cm focal
length | D) 33394 ‘ﬁa’“iﬁﬁm’aﬁﬁﬂ
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4. Acurrentof 05 A is drawn by o lilament of
an eleetrie bulb for 10 minutes. The amount

ol electric charpe that Nlows through the
circuit s

(A) 5 coulomb

(B) 30 coulomb

(C) 60 coulomb

(D) 300 coulomb

15, Ram has two electric bulb. Bulb - A is rated
100V SOW and Bulb B s rated
200V — 100W. Which of the bulb filament
will have a higher resistance”
(A) A
(B) B L
(C) Both have same resistance

(D) Insufficient data

A a\\_’

16. Two conductors are made of the same )k%
o,

material  and  have the same length, ———=

Conductor A is a solid wire of diameter

I mm. Conductor B is a hollow tube of

outer diameter 2 mm and inner diameter

I mm. The ratio of resistance Ra to Ry will

be- _
"(' o () ] r')
[AJ‘ 1 . I LN G
¥ °
(B) 2:1
(C)y 4
(D) 1:3

[S01-JEE]
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\
V10 ey aea @ e 4 0 g fafae aa
0.5 A v vaifee fidy g afagey o
b -’a.J'
WAl det wias v R
gin (€
(A) 5 wefiu , (7
17 7
(B) 30 welfy 9
rd -
a7 “te®
(C) 60 meAfy
’f
7 ' 7 (0
Q}( 300 4ty SR

15. o @ ur 4 faga ae &) ae A

100V~ S0W sifdber 2 a1 4e4 B 42
200V - 100W sfder & | #1714 964 B o
a1 ufaay wfas gere A= ki ace B

5° L
{A} A p-'.:- W 1o
(B) B i
(C) <At &t 11+ Iz §
p £ p - W
(D)  AEGHE Ay

GHIA Aaqrg 9 vh & qared & 99 @1 ared®
# | ument araw A, | A @ orm an
Bl g Aaidw B, 2 A m??r a4
aur | A sriafea @ araeh afea

2| ugd vd qu ardd ® gfawa Ry aun

Ry @1 A-HTel &1 ren - 2w
(2
(A) 1:1 g
)
(B) 2:1
() %1 i
” "'(
ﬂ){’ 13 |
|
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17.

18.
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A long conductor wire.is given to a group
of six students. The first student cuts the
wire into two equal parts and kept half to
himself and gave half to the second student.
The second student repeats the same
process up to the 5" student. The sixth
student keeps the piece of wire as received.
If the resistance of the piece of wire of each
student is R1, Rz, R3, R4, Rs, Re respectively
and group of two students combine their
piece of wire in parallel order, then which
of the following group of students has
lowest resistance?

(A) R, Re

(B) R2,Rs

(C) Rs3, R4

(D) All the above have same resistance
In a horizontal wire, electric current is

flowing from north to south. What will be

the direction of magnetic field at a point just

above it?

(A) East \
(B) West

(C) North
(D) South

Page 8 of 32
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17. ©: Rrelhi & TF B @ J41 AqAE R

frar o & | wEen faEmefi R BT <Y ava
it A Hredy T AT AU U TG ey
m@ﬁmﬂﬁaﬁééﬂ%r{ﬂﬂﬁw
& 78 ufpar Qe & | TE HH 59 fenef
oo <rexTal ol €| vedl [l aw aR
& THe B A <@ o ¥ AR TS
Rrerest @ 9 @ IR B ghs @ UfeRm
#99 Ry, Ra, R3, Ry, Rs, Re 81 7T T
RreRit oM dR @ gHS! BT FHIAR B H
wafera oY, ar frefalaa & @ faa g
@ A BT URY HaH HH E?
(A) Ri,Re

(B) Ru.Rs

(©) R:yRse

. N AR IR ¥, SR ¥ gfdyo @ ek

faga arT yanfe &1 %@ 2| 390 S I
Re =l iy = daadta = R
e \

@ @ h
@ e
(C) I

(D) <fdyoy

R
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19. An electron projected towards west is 19, uf¥Tm @ iR vafa #1E goee fad

deflected towards north by a magnetic field. gEHIY &7 5N I B AR fagfg 8
The direction of magnetic field is - I 8 | grEara &3 @ faem anfy —
(A) Towards south (A) <@ @Y 3R
(B) Towards east B) @ A AR A
(3)/ /Downwards S, ©y i
i (D) .Upwards / D) SR
20. A bar magnets is dropped sequentially from  20. & TUS — FEEH B GAH A W
two identical coils A and B at the same TR 4 3 HaaT HUSferal A 9B A
height. Coil A is connected with an electric SR WaFads R arar 81 gred

bulb and coil B is kept open ended. In which A B T U@ feE acd ST T & aer

FUSell B Geil ¢, e gusell § ToRd 1)

of the coils, speed of the magnet is fast as

compare to other?

g@ﬁi @ AT e BIAT?
(A) A

1A) A
(B) B ®B) B
(C) Same in the hoth condition (©) 2 # T

Depends on pole of the magnate
) Depen ; . D) FuF B §a W R Fm

21. _ A electric bulb drawn 0.5A current when it 21. @1 fae[d 98 @1 220V & faga Ha @

is connected with electric source of 220V. TafId 3 W 0.5A faga arT wargd
If this bulb is used 10 hrs per day, then how B 81 Al 708 B wfifkaw 10 € I
much electric energy consumed in a month e S €, @t "E (30 &) § W g |
(30 day)? (1 unit = 1kwh) @ faga Soit @t — (1 gffe = 1 kwh)
(A) 22unit  z '1..’1":; (A) 227 i\lch 5:S X 1030
® Bumit 70 /10 ® 1 e |\e 33 70
(C) *44 unit S , (C) 4437fe
(D) 66 unit wo © o © (D) 66 e
43"
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22. A copper wire has diameter 0.4 mm and

resistivity 1.6 x 10-°Qm. How much long

www.Apnistudy.in

| fe|

_pz—/ P
( R= P % A

/ .
arg 0.4 B e
M R

Rl 1.6 x 107°Qm 21 10Q wfeRw

wire will be required for resistance of Gl yfeREd LR lix \0"\
afe o
10Q2? araegddl 5
P 1 > b X\b —_
@A) 785m Y¢ U ' cola @A) 7854 | )
® tstm RV (B) 1577 ('.L-:;f “Q&Kl
¢ : RIS
© 34m  (oflz  ALT° (€ 3147 \o %q A
(D) 25.6m W (D) 25.6 1. °f*xﬁl;‘—}'
Areaw
23, A wire of 18Q is molded into a isosceles  23. 18Q WfaRM aa &l IR @l
triangle as shown in fig. Resistance across RETHR (6 THa1g ExGIERIEIRCI] 2
side PQ of triangle will be - Br{or @1 goT1 PQ & AR W afoRe ghm-
P 8 p
N, . %
v b
Q R ) gm‘?‘ g "
o™ .
(B) 6Q O\ V) LB{ 6Q L}Kﬁ_
© 1o © 120 et
& 188 ® 150

24. When a stone is dropped freely from a  24.-

tower, 1t reaches the earth’s surface in

3 seconds. The height of the tower will

sl S0 AR B R @ v TR @
B AT W THT W L | AR ) S

be — & -
(A) 30m fo 0 (A) 30+ \\
(B) 60m gz B (B) 607, g
(C) 45m 3 (©) 454
(D) Insufficient data |. @) BT i @
Lok o g o
\ [m o Pagetoots2
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25. A person goes to market with the uniform  25. @1 @fdd 20 kmh! B UF FAE AA §
speed of 20 kmh™. Due to market closed he BX ¥ SR AT 2 | SO 48 811 B SRl
returns back to home immediately with the a8 dedrel 30 kmh! B @ FEH A 4
uniform speed of 30 kmh''. Average speed W de o &1 @A @ Gﬂiﬁ Tt
o}
- W 25 kmh—l 30'("'?/}\ 50 3
@ skt |2 Yoo ) 5 s
(B) 24 kmh’ W (B) 24kmh
-l . ,\
(C) 50 kmh-l GM (C} 50 kmh @ k)
(D) Zero ] D) T =
26. A bowler throw a ball of’ |1lnass 100 g "26. 100 ¥ RoTAH @1 g BT AgaTol 24ms’’
towards the batsman with the velocity of a} AT ¥ o9 B IR Pl 2 uﬁg
24ms”'. The batsman hits the ball and = e 3 e @ el A R
i 1 in th v
generate the velocity of 40ms™ in the feu ¥ 40ms™ BT 45 ieret 4w
direction opposite to the initial direction. If —
o , : Wﬁzw%woozsﬁg‘ra‘raﬁ
contact time of bat and ball is 0.025 s, then gTrnJ )
the force applied by the bat on the ball will anl ﬁf tﬁr RIS T —b‘o 3
i _. m —
be - { ‘Hbfw_:ii X W= a2y my!
(A) 64 N ."‘ (A) 64 N = Ye Ms-l
Fom) w?( A g0
(B) 128N 7Ly (B) 128N ot 85 &
%o g 256N oo 10—
(C) 256N 1¢ J leswL " 'L;r_ o' €
(D) 640N “’:0 ) &N (os X
27. Two balls of different masses are moving =~ 27. &I 3IeiT—3(cT S&H PI g FHE GIT
with same momentum. Which of the balls J Y FR @ 1S A | B S B
p requires more force to get it stopped? Ae § RS g T Br?
= \'C*o a1 :
“” 2% (A) Lighter ball (A) I
L+ S ;f‘* ,
v e <. (B) Heavier bal (B) =¥ g
r 20 .
(C) Equal force for both '(-Q)/ N R THH T
- ’ (D) Depends on time taken to stop the (D) T BT IS H o wHE R PR
-ﬁf’ig"i, L. ball ksl
oY - 0
s o
e " e
[SOI'JEE] 1+ 5 G Page 11 of 32 v
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28. To listen echo, minimum distance of 28, Wfeaf e @ @ fow

the obstacle should be - (speed of sound A A g =fey — @@ B A
344 ms™) 344 ms") 3q4~*\x .
KRS
(A) 4m (A) 447 Ay fo
(B) 344m ﬂv/ 3448 — 3
© 172m (L @12k
(D) 68.8m . i o G
29. In which of the following conditions  29. W 3 9 fea Ruafa § aRT awr
induced current will be generated? I B
(A) .In a current carrying coil kept near (A) &R v gud B N @
a strong magnet  HRMEE gusell
(B) In another coil kept near a coil (B) fHEl uRmEE FHoselt & UrE
carrying current g I EASl
(C) A coil kept near a coil in which the © mw T T T greeh
value of the cufrent is increasing = | URT 3T A9 9¢ @l ®
(D) All of the zbove | ;;":aﬁ ARG arr wea

30. What is meant by ocean thermal energy? 30. FEEIRE AR Sert ¥ qred f
(A) Converting the energy of huge (A) WRTE & fNae R i &

waves into thermal energy near the
coast. Ii.aﬁ T St 3§ QT |

(B) Obtaining energy from tides (B) 9R # O B T SR—AET
produced in the ocean.

W ol ure ey
(C) Obtaining energy from temperature |

difference between water on (©€) wmR U & We ai] TERTE B ol

surface and water in depth, of the

H AR Y
ocean. St T BRAT|
(D) All of the above D) IR Wy
___,_,_-—-—-—'—_"'d_—._—-_._ . =S _

'[—sol_JEE] Page 12 of-;z S T
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31. Element which is found in native state 31. 9§ acd WY fb 3(0+ HoT faweqn ¥ gram ST

is - .
(A) Iron (A) 3TERA
(B) Calcium k_/FB) N ey
(C) Copper ©) TR
(D) Platinum
32. Which of the following is a metalloid? 32. ﬁmf%rﬁaa | Ud Iuurg © —
(A) Tin {A)I 29
(B) Germanium “if ¥
(C) Sulphur (C) G
(D) Carbon (D) GGG
33. Stainless steel is an alloy of - 33. WA Wi A © —
(A) Fe,Cr,C, Ni | (A) Fe, C.r, C, Ni
(B) Fe,Ni, Cr @/Fe, Ni, Cr
(©) Cu, Al (C) Cu, Al
(D) Fe, AlLNi (D) Fe, Al Ni

34, A non-metal used to preserve food 34, DI UG @ D USRI D GRET H

stuffs - ITINT § AR Sl 2?
(A) Nitrogen &) AERe
(B) Phosphoriis (B) BTEpRY
(C) Carbon (C) aﬂﬂ:{

(D) None of these (D) EFTﬁ@{ aﬁ'sf i

[S01-JEE] Page 13 of 32

PDF @ApniStudy.in



38, Among  the  halogen, the  lowesl

clectronegativity is ol
(A I
(B i
() 1
(D) Br
36. Which among the following clements do
not have the same number of valence

electrons’?!
(A)  Group-1

(B) Group-2
(C) Group-17
(D) Zero Group
37. Which of the following properties of the
atoms of an element ‘X and X** must be
same”’
(A) Size
(B) Color
(C) Nuclear charge
(D) lonization energy
38. In a periodic table from left to right in a
period -
(A) Atomic weight increases
(B) Metallic character decreases
(C) Atomic volume decreases
(D) Al of the above
39, Commonly metals and hydrogen are -
(A) Electropositive
(B) Electronegative
(C) Both
(D) None of the above

www.Apnistudy.in

38, Mendst ayn A day e e ooy N

fpad) @y 7

(A) I
) Cl
w1
(D) Br

3. [-vrferfdac I 722 BN (50| B
ddore gaagta afi @ &2
(A) YqE—1
(B) 1HE-2
(C) w17
M) I e

37, freifafed % Q4 BE QO de X
gadh A X2 A e B

(A) SHR
) <
(C) =Tfwestar agor
(D) amardeor FHulf
38, e agd weofy o e @ qd o ®
amad | —
(A) wfeaed YR gadr @
(B) g ugfa ged 2
(C) wHIfdgss aras wear 2
By I el
39. ol 3R BT A @ P -

1_/5({ fregererTremen

(B)  [Aegemonaya

(C) v

(D) 5501 Q) ad o

[501'JEE] Page 14 of 32
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40. Which group of elements form anions most
rapidly?
(A) Oxygen family
(B) Nitrogen family
(C) Halogen

(D) Alkali metals

41. The suffix used for naming an aldehyde
is -
(A) ol
(B) al
(C) one
(D) ene

42. Which of the following method is not vsed
in preparing base?
(A) Burning of metal in air
(B) Reaction adding water to metal
oxide
(C) Reaction between an acid and base
(D) Heating metal carbonates
43. Which of the following is known as soda
powder?
(A) Baking soda
(B) Washing soda
(C) Plaster of Paris

(D) Bleaching powder

—_—

www.Apnistudy.in
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40. frafafaa & @ @9 @ d@ dgar 4
FONGA AT 27
(A) i aRar
(B) IS IRAR
AC) Eeirr
(D) & =gd

41. e (r) s 6 dfesegs @1 A
forge ww GuANT # AT A6 8 -

Y VA
A) I

Tis) w
© o
Dy =T

4. Preafafeg § @ a9 @ AR &R +H 5
forg IunT § 7€ ol ol 27
(A) a@ﬁmﬁwﬁeﬁrﬁm
(B) ﬂ@maﬁmﬁaﬁﬁm
(C) Tl U9 &R @Y ifafhar |
(D) o B BEHE B T WD

43, Prefoea & & Y drer TR @ AW
Y ST AT 87
(A) 3wt
(ﬁ) SIS
(€) @R 3w IR
(D) <NfET AESY

[501-JEE] Pa_ge 15 of 32
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44, e A E

w/q:nﬁ HC1 @ 9% HNO; & AR

44. Aquaregiais -

(A) 3:1 ratio of conc. HCl1 & conc.

HNO: B!
(B) 1:3 ratio of conc. HCl & conc. (B) 9= HCl @ |91g HNO; #7 1.3 3
HNO; Jrard

(C) 3:1 ratio of conc. HS0s & conc. (&) iz H:50s @ W15 HNO: %1 3

HNO; P1 S
(D) 1:3 ratio of conc. H2SOs & conc. (D) Wi HaSO0s d iz HNO: &7 113
HNO»

w1 AU
45. Saturated solution of KNOs is used to make 45, KNOs3 ® g faeta= &1 AT F9 ¥

salt bridge, because - 9 ¥ gar & Faife —

(B) Velocity of NOs more than K* (B) NOs&T 37 K* J o 2t 2

(C) Velocity of both are approximate (C) BHY &T 7 AT IIER Bl &
1 ;
equa (D) KNO; % fiergar wret & Ied &6

(D) Solution of KNO3in water is high 3

46. Which set has the strongest tendency to

form anions?

url e 87
(A) V,Cr,Mn (A) V.Cr,Mn
(B) Ga,In,TI (B) Ga, In, Tl
(C) Na,Mg, Al (C) Na, Mg, Al
®) N,OF My N,O,F
fm" Paget6oraz o

PDF @ApniStudy.in



www.Apnistudy.in

47. Compared with the alkaline carth metalsthe ~ 47. &g a1 =rgell @ gorn H &R g

alkali metals exhibit - refdfa e & -
(A) Smaller atomic radius (A) B awE] B
(B) greater hardness (B) afman HaRam
(C) high boiling points (©) T T
(D) lower ignization energies D) P A Sl
48. Splitting of spectral lines where atoms are ~ 48, 79 TRHIY Hed faea &= & <@ o - §
subjected to strong electric field is called? 9 WA TIE BT [PaRiHT (Reaferfe)
e B —
(A) Zeeman effect | (A) S v
(B) Stark effect | ®) T -
(C) Decay © &
(D) Photo electric effect . pAg—— ﬁgﬂ —-—
49. Major product of the following reaction 49, foforaa sifafsar ¥ g€T (major) IUTE
is- & -
Br Br
CH,—Cl'-CHJ—CH, faleKOH = ? CH}ﬂfl_«_CHfCHﬁalc,mH =
h H
(A) Butane -1 A) = -1
(B) Butene -2 (B) T -2
(C) Butane ©) E‘{éﬂ
(D) Butyne -1 ) e - |
50. Which reagents distinguishes ethylene from 50. @ A et vefiel @ gRices #
fayg e 87

acetylene?
(A) Aqueous alkaline permanganate
(B) Chlorine dissolve in CCls
(C) Amonical cuprous chloride

(D) Con. H2SO4 (D) ¥i% HaS04

. PBF@ApRSweyin—————
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S1. Identify the product (P) in the reaction — S1. gifefsran
KMnO KMnO,
R3C—H=b:‘P R;C—HﬁP#W(P)%_
(A) CR3-CRj (A) CR;-CRs , "
(B) RiC-CR: (B) RiC _CR: - Q3-C"‘.
(C) R}C - OH (C) R}C . OH .

(D) R3C-O-cR3 (D) R3C-O-cR3

52. Bacterial decomposition of cellulose 52, WAW el § SURed Wegars UarRl @

material present in sewage water gives - SHETY] e q ui ugrRf 8 —
(A) H: _ (A)  Hz

®) CH (B) CHq

© 0 € 0

D) N, D) N

53. Out of first 100 elements, number of 53. ¥W 100 Taai # 3d siifdea qre Tt B

elements having electrons in 3d orbitals &1 & —

are - 4

(A) 80 -//“{ -

(B) 10 B) 10

(C) 100 (© 100

(D) 60 D) 60

54. Cathode - ray tube is used in - 54. B Y T S @

(A) Compound microscope

(W) ¥ gt
(B) A radio receiver B) Aeqr T §
(C) A television set ©) & 3= y
(D) A Van-de-Graaff generator (D) ":ﬁ’fﬁﬁ"hw STReER Y
[501'JEE] Page 18 0f3é o ___—____H__—“““—*H———__ 1y
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55. Photo electric effect was discovered by-

(A) Hallwach
(B) Lenard
(C) Einstein
(D) Hertz

56. Which among the following substances can

undergo sublimation?

(A)
(B)
©)
(D)

Naphthalene
Ammonium chloride

Anthracene
All of the above

57. Which among the following gas is

58.

(501-JEE]

generally used in fire extinguishers to stop
fire and why?

(A) Hydrogen gas because it is lightest
and spreads out easily.
Carbon dioxide gas because it gets
condensed easily.
Carbon dioxide gas because it is
heavy so it covers the fire like a
blanket and break the contact with

B)

©)

the oxygen.

(D) Hydrogen peroxide gas because its

hydrdgen breaks the contact

between fuel oxygen.

In a class during an activity, a student cut 2

ece of potato and kept it in a plate. He then

pi
ine mixture over It He

put 3 drops of iod
saw that the color of the potato changed to

black and blue. What does this activity
indicate”

(A) Potato contains starch

(B) ains a lot of fat

Potato cont
(C) a high level of

Potato contains

vitamins

(D) Potato is a source of protein

Page 19 of 32
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56.

57.

58.
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YT faega s e gwT @i 1T

(A) BTera™

(B) oI

(C) eI+

(D) &a-

Rrefeiad & & #19 @1 yerf Fedufad &

Hepar &7

(A) “erefH

(B) 3mf¥ad FRTES

(C) , T
Iuied |l

ST qE et ST A3 H ST g

@ forg e Y @ 9 yga @1 A

2 ik Fr?

(A) TERE a w@ifs 78 wdies
e B & ok Muaw | oA
icil

B) FET SE-IiFEES T FiE Ig
A ¥ gufia 8 9l 2|

©or

Fe SE—ifaedzs W Fifd T8
g I BN @ PRY AT DI B
2 oRE e B sfad § 6%

e B <l 2
D) TRENE WhEgs H FMS
@) grggior, 2o SR i
3 9 @ ud @ arg ot 2
FeT ¥ U TR $ & RE TS BTA
3 o BT B HS FleaR U T W
w@ gy fR S9e 99 W A @
frerae &t & 92 STel | 999 3@ & sire
& T qEAdR Hiel 3R Aar & T2
78 TRl T W & 87
(A) 3T W e B @
(B) are ¥ I« Bl #
© mﬁamrﬂﬁﬁaﬁﬂaﬁ?

(D) anqm'é’ﬁaﬂgmﬁ’iﬁﬁ
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59. A student takes three cylinders during an
experiment. He fills them with any gas or
material. After applying pressure and
compression with the help of the piston he
observe the changes.

Choose the correct conclusion among the

various conclusions drawn by him —

Piston
cylinder

Piston Piston

cylinder cylinder
.

(A) There is a change of state in matter

on increasing or decreasing the
pressure. |

(B) On increasing the pressure the
particles of matter ¢can come closer.

(C) Gas can be converted into liquid on
increasing tiac pressure  and
decreasing the temperature.

(D) All of the above conclusions can be
drawn

60. The bond which is formed by sharing of
electron is -
(A) chemical bond
(B) covalent bond
(C) ionic bond

(D) co-ordinate bond

[501-JEE]
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59, Ww@mﬁﬁuﬁva‘:a‘hﬂé‘m

ﬁ?‘mﬁm%lwﬁaﬁs‘ﬁﬂmwﬁaﬁ
Wﬁmaﬁﬂmﬁwwm
mﬁaqq‘mqﬁﬁwﬁﬁﬂuﬁaﬂﬂ

(A) M@ g AT "W 9 ugrRf i

srawer ¥ uRads 81 wddr ¢ |

(B) <M 931 W ygrRl & HUI S [HY
AT T el ® |

(C) 3W & qe7 IR aUHH & "ol |
19 59 ¥ 9ot gad) 2 |

) ST W e are By ¥

(C) ImafAs sy

(D) SUHEYIIS®
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Maths
61. The ratio of the heights of two cylinders is ~ 61.
2 : 3, but their volumes are equal. The ratio |
of the areas of the bases of those cylinders
will be - "
g /i
(A) 3:2 PR A
B) 2:3 Lk 17
(C) 9:4 Y |
D 4:9
62. In triangles LMN and PQR, if NM = PR, - 62.
NL = PQ and £N = £P, then -
(A) ALMN = APQR
(B) ANML = APRQ
(C) AMLN= ARPQ
(D) APQR=AMNL
63. IftanA —cotB =0, then A+B is equal to - 63.
(A) 90°
(B) 60°
(C) 45°
(b) 0°
6a. If @+ b’ = (a2 + b%)’, then the value of J4_
et
(A) g.
(B) 3
(c) 2
(D) 4
[501-JEE] _ Page 21 of 32
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\
~ af2 tanA - cotB =0, T4 A + B a_T&R BT
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afora

2 dertt A gt B orgurd 2:38 W
a“-ﬁmmaﬂwmwaaﬂ‘ra%mﬁ

& eFhell @1 U B —
xL
(A) 3:2 nyr b =
[\Q/2°3 ‘}/Ar"z =
9:4 —~ 2
(C) w3
e

fan LMN 3% PQR afa NM = PR,
NL = PQ 3R 2N = P, G-

_AAT" ALMN = APQR

(B) ANML = APRQ

(C) AMLN = ARPQ

(D) APQR = AMNL

Ay o0°

(B) . 60°

Jan |90~ A) "~ (¢
QC“ P) i (.B

-

(C) 45°

(D) o0°

af (o' ) = (a2 + b AN + 9 1 74
-
(A)

(B)

(%] e Wb

ey
(D)

FEN
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7.918 x 10® to get 7.918 X 10'*?
(A) 4
(B) 1000
(C) 4000
(D) 10000

66. If ‘m’ represents a natural even number, 66.

then which of the following expression is an
odd number?

(A] ml(}24

(B) 9m+ 32

(C) 2m+m’ )

D) m’>+99 %

67. If AABC ~ APQR, then which of the 67.

following statements is true? A
(A) ABQR-BCPQ=1 " _/:y{_

(B) £A+ZQ+£C=360°
(C) BCPR-ACQR=0 a7 ¥
(D) AB.PR=AC.QKR o

4yl

A

68. In the given figure, PQKS is a quadrilateral ~ 68.

which circumseribes a circle with centre O.
If PD =4 ¢cm, QB =3 ¢m, RC =6 c¢cm and
SD =5 ¢m, then PQ is equal to -

Page 22 of 32
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65. By what number would you multiply 65. 7918 x 101 U™ & forg &9 7.918 x 10*

(C) 4000

@7 10000
uﬁmwmﬁw.mﬁﬁﬁﬁﬁm
g,ﬂ*ﬁﬂﬁﬁﬁ?—wmww
Q#@JT??

(A) ‘m'"

® om+3 "

(O 2m+m o F

@y m*+99 93

Ifd AABC ~ APQR, a9 fa=felRaa # 9
P G &7

(A) AB.QR-BCPQ=1

(B) ZA+2£Q+ £C =360°

o BC.PR - AC.QR =0

(D) ABPR=AC.QR

Q T iy #, PQRS@W@"&G%E‘IO
d% A UF gH D g 2| A
PD=49#, QB =3¥#, RC = 6 A
AR SD=5¥A. & a PQ e & —

D) 10 |94
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69.

70.

71.

72.

(501-JEE]

2
P

cos 70°
sin20°
(A) 1
(B) -1 s
(/]

D 2 : o3 g7

cos 59°
sin31°

PR.

What is the value of ZQST?

(A) 50°
(B) 60°
(©) 70°
D) 120°

If each side of a triangle is quadrupled, then  71.

the ratio of the areas of the new friangle so

" formed and the given triangle is -

(A) 16:1 \ N
(B) 1:16 g
(C) 8:1 o
(D) 4:1
In the given figure, PT is a tangent to the  72.

circle with centre O. If ZQPT = 60°, then
ZPRQ is equal to -

(A) 30°
(B) 45°
(C€) 60°
(D) 80°

- 8sin 30° is equal to - 69.

APQR is' shown here. ST is parallel to  70.

www.Apnistudy.in

C?S?O: + m—”-Bsm 30° aRTER & —

sin 20

@) 1 % . b

B) -1 p 41 =85 3

€70 = L4
4 —) 'R

o 2 (2 20 Y

ZQST HT 99 FT 87

(A) 50°%

BT 60°-

(© 70°*
D) 120°

Mﬁl

- (B) 1:16

© 8:1
@) 4:1
QT PR F, PT 3% O 7l g0 & v

wﬂ%m%nuﬁ%z(}m‘ 60°, T ZPRQ
TR E -

Q

) 30
(B) 45°
" 60°
(D) 80°

e
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73,

parallel series 63, 65, 67.....and 3, 10,
17.........are same, will be -

(A) 14

(B) 15

(€C) 13

(D) 12

74. If the radius of a sphere is increased by 74.

10%, then the volume of the sphere will

increase by -

(A) 11.1% Lo
VAR

(B) 222% o

(C) 239% 10'&_;{};5 At g

(D) 33.1% =1

75.
from the point P (3, -2) on the x-axis and
y—axis respectively and the origin is O, then

the perimeter of the rectangie OAPB so

formed will be -

® 3 .
(C) 10 b
(D) 6

76. If the circumference of a circle is equal to
the perimeter of a square, then the ratio of

their areas is -

w4
(A) 22’? (]'\.."}‘ "
= 0
B) 14:11 L 5 ’
© 12 ,,
D) 11:28 A
[ 501 _JEE] e 24 of 32

The value of n for which the n™ terms of two ~ 73.

A and B are the feet of the perpendicular =~ 75.

76.
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N

n & 94 e fag @ =R aft

uE wEE g A -,
m = )4
(B) 15 “{.m-‘)l’-’ii—%,a
-
((© 13 “_g_
(D) 12

TF M B Bt A 10% B gfg B S
%a’rgﬂfﬁaahmaﬂﬁqf%'avﬁ—

(A) 11.1% '3‘ ¥ .;.‘/,_.}-’.
(B) 22.2% 5 By
©) 239% g oy

®r 33.1% |

fdg P(3,-2) ¥ x - 3187 U9 y — I W I
¢ o/ & U5 AL A iR B & @ qe

fdg O &, A1 39 SR 9= 3maT OAPB @I
gRATT BT — %

&) 2

(B) 4
(C) 10
D) 6

A% TF g9 B R 1o @ @ qRAw B
m%,?ﬁmmaﬂaaqm%-

(A) 22:7 1_,1%1:.‘_\*q
(B) 14:11 M‘-}] =\
/ec/?zz L L Y
a"f’l—f‘}-": L
(D) 11:28 I =
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The mean of 100 numbers was found to be
50. But later, it was observed that a number

150 was wrongly taken as 50 at one place.

The correct mean is -

(A) 49

®) 50 i
(€) 51 T 1,
D) 52 '

78. The marks obtained by 100 students of a

class in an examination out of 100 are given

in the table —

\ Marks ‘ Number of students j
| 020 | 30

| 20-40 | 20

| 4060 |- . 20

| 60-80 | 8

| 80-100 \ 2 4

Now, if a student is selected at random, then
the probability that the student has secured
at least 40 marks is -
A L
10

(B)

pl= =

(C)
M) 0
79. The probability of getting a bad egg in'a lot
of 400 is 0.035. The number of bad eggs in
the !ot is -
4) 7 -
®) 14 ]
(c) 21
- () 28°

[501-JEE]

78.

F
79.
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100 weamat &1 WA S0 g W | W
e ¥, ug @ T b e = 150 6
TF WM W A a0d 9 50 & & A
o T o W A A 1@ T S0
(A) 49
(B) 50
&y 51
(D) 52
v g0 ¥ T Hel B 100 feniat g
100 ¥ ¥ uE fHy TC 3F G A U

T Es

e | faenE @ e

7020 0
20-40 20 |
40-60 20
60-80 8
80-100 2

g, afg Ud [qenell I Arfeesdr g1 Sl
g, ﬁ%ﬁmvﬁm%mmwmmﬁr
& Tl & —

a L

'(B{ 0

(€)

—

(AR | o=

D O

400 37S1 B TH WUE A W TP TR IS
oI B B Wiedr 0.035 €| 36 |UE
A @ IS B HEr § -

(A) 7 t{m 1"06 S
@ s KL
©) 21 1 F

(D) 28 ' 0-03
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wsooawwnaqv?ﬁ:ﬁ*ﬂﬁﬁ

80. The number of numbers between 1 to 500  80. . ¢
exactly divisible by 13 will be - ‘ il @ e gl — 14 ‘lﬁﬂ 3
(A) 40 : : (A) 40 Y 3% ki
ne -(.B/ 13 33X D
(B) 38 t/l 78 18 38 _q&G 24 39
©) 46 ! (C) 46 &
=
N (D) 47 (D) 47
¥ 8. Ifa+b+c=0,thena’+b’+c' = ... 81. R a+b+c=08 Ma’+b’+C' = e
= (A) 0 A) 0
-~ (¢ - 1) ! 3
o (B) abc . 4 + (B) abc
& (C) 2abc \;&9‘2’ e (C) 2abe
O Kl
‘ (D) 3abc 19 (D) 3abe
>_ 782, Inaright angled triangle the hypotenuse is 82, T WHBIT B A &V SED IER |
: -+ 4 cm more than its ba.se. If the base is 2 cm 4 AF afte 2 ot smR o= @
p ‘r: \\ less than the perpenfhcular, then the length 3 AR T A, A Ph R B —
‘ <" @ of the hypotenuse will be - o :
~ o (A) 4 :
\ W n g (A) 4cm ) N & Q’?’H X 7~+l“ to
A, y® 8em G o\ ® W B{”
A ) o 2
x % R © 6em x-1 (C) , 6 | *
(D) 10cm -(?)/ 10 |
83.  Ifthe roots of a quadiatic equation are 4and  83. fobell fRETT WaeT B TA4R2E @
2, then the equation is - ' g o R 2
o () X46x+8=0 . fa,uqa.-u}'f "7('“( ) X2+6x+8=0 ' e
¥ 3+ @ x*-6x-8=0 e (B) x*-6x-8=0 g_ |
- (C) x2—6x+8=0 "~ r'ua’ sz‘GX"‘S:O x 'Lé)#(l)
3 —?: M) x*+6x-8=0 3 D) x*+6x-8=0 11—5')‘“"'3
?": T 84. A tangent AXB is drawn to one end of 84. 5 AW A=y ary T D A XY D TP
D - | diameter XY of a circle of radius 5 cm. ~ R W waf ¥y AXB @it Tt 2| AB
Parallel to AB and at a distance of 7 cm W IR X 7 A B g W
from X, the length of chord PQ is - PQ;% A ® -
u (A) 8 9+
(A) 8cm ‘ ) :
Ry B Som {\\ (B) 5 ¥, y% 4
;Q& © L (©) 6em X ‘ : (€) 6uA
S VYL D) 410 em W g ® e g |
{.'- '-',t ‘. Y(m
F————E—E "“,_1{2\\" g 3]
[501".] ] -; 3 Page 26 of 32 W y ¥ 2
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§5.  Which one of the following statements is 85. fr=fafaa # o &9 W a3 wen 27

true?
(A) Every integer is a whole number. (A) weId goid us qoi #qeon g
(B) Every irrational number is a real By T it e v avAia
number. wean &l 2|
(C) Every rational number is an Q) g uf¥dm wwzn goi® 2
integer. > : . ) :
g qredfae @z ve g
(D) Every real number is an irrational ®
w2 B 2
number.

86. The radius of a circular disc is 14 cm and 86, UH F@HR "&H & Fow 14 AX adl

the thickness is 2 cm. A solid right circular ~  #IZE 2 #AL E| A 25 AHfN @1 0
cylinder is made by placing 25 such discs 3 S (@ FEIR TS I 7 JA T
one above the other. What will be the mméiw‘ﬁfﬁﬂwﬂﬂaﬁ
curved surface area of the cylinder thus J< aype Fa B 1y oz
formed? - e - LL%\U_;
e M (x=7 ) R 4
(Takert-— -7—) @\/ s ‘Q/ | .
(A) 4400 cm’ Lo 3% 4400 H#? o
N g, o G
(B) 2200 cm’ ALY 5 O B) 2200 BH :
O\t - __‘ -"_ ) . Ay
2 N Ra A 2 2804 HH* o 9 K
(C) 2804 cm = { R 5 (C) 2804 A .ﬂ%
2 RN ; - g
D) 1100 cm’ n Al () 1100 FH B
87. [fx=2+1f3_.thenx+1'—= ...... -‘-’, 8. iz x=2+38 A x+ —= /A!
x .".";' -_— X =
Nk
(A) 8 L U 143+l
®) 2 LT 4By 2 T i
() 6 ¢ (€) 6
Dy 4 D) 4
88. [f4g=wsecﬁamii=cm9.dimﬂwvallx 88. afz 4x = cosech 7 ': = coth
I 1
5 1 & S §) Y-
oflﬁ(xé.;-i-)n- Iﬁ(x )a—"mﬂz‘r’ o 7
(A) 0 " { (A) O - ' .
ve | (B) 2 i .
(B) 2 \ ) ,: A - /’/‘ )
) -l © - A XY L3
' M al
M) ! W ¥
X ¥ ’/_.-'
- . 2
e
[501-JEE] Page 17 ol 32 REW
- L

_PDF-@ApAi Study-in s



89. 1f 4 cos’ A + 3 =4, then the value of sin A

is -
(A) L
4
(B) V3
2
C) L
©) =
D L
2

90. The circumference of the base of a
cylindrical vessel is 132 cm and its height is
25 cm. How many liters of water can this

9.

90.

www.Apnistudy.in

A

afe 4 cos? A+ 3 =4, sin A BT AH
B - A=Y
(A) L ¢
4 -
&
x\____z"_,__,/\_/
(C) L
V2
(D) L
2

T JoTER ddq B AR B IR

132 A 2 el wwa SarE 25 AM, 2

. vessel hold? 59 a9 ¥ M diex o am e 22
Py
N (Takeﬂ=2) =R Hem 1;1“6"\:\39\3
' + 3\L g Y€,
T, 1 ga e ! t‘& x 1— Q x‘ ‘,f
L (W) 308liters Qo A (A) 30.8 ¥R
<V (B): 77 liters " (B) 7.7 X \# 7”"7'
N w L ) ﬁl:__ 7-5'
(C) 154 liters S A & . (C) 1547 3 /2:
(D) 34.65 liters o ' Mﬁs flex E_‘_‘f_"_‘_'_ LE:(
S | ‘ - - Tac
9. Ifx=1isacommon root of the equations  91. AT x =1 WA ax® + ax +3 =0 3R
1‘0 \i" ax® +ax +3 =0and x> + % + b =0, then the x2+x+b=03ﬂ@m,ﬁ%’ﬂ
S ,\f - \valueofabis- X 11“:& 0 abEFIHF{%— &
0 i ~ 4 i')_(ll-") %ng ¢ 18 o1 l./{( {) "\'Q(\ \._‘( )to
nw L, (B) 35 i (B) 35 _
b '\,‘1 '5“ L @ . A__ B
Ee T gag By e
-~ 5 (D) 3 ’ I._—'*t-_.. N ) 2
- < 3 n— R
92. The zeros of the quadratic polynomial 92. f&oTd agug 3x2 + 15x + 12 ® YD % -
3x>+ 15% + 12 are - 7
(A) both negative . \J‘“ R T
(B) both positive & (B) IR E e
X
(C) one positive and one negative Q‘ 2 {Gl Ud 991G 3R UH FUTHS
‘—“ (D) equal in magnitude, but opposite in i (D} aRETT § qurEr b gar o
signs r ﬂy ). S( i) ol (R
- 0
e ye ) 31t Ind)2 = o
[501-JEE] g Ao VI L )
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— — .- oAy

e =¥\
&-HD'E\# "o 40 s\

93. Th; Sum of first three terms of an A.p. js 51 93, us gaiax &oft & g 19 ggl &1 I 51
;20 P;(;duct of its first and third terms i 2 3R 3P UBA IR AR el @1
€ common difference of the A. P ' —3]
o TUrHHE 240 & | wHIAR ot BT Ad-37R
(A) 8 add 2 +atid B’Fﬂ— S\ A4D
- 5 (A) 8 19
B 7 \a 1} S C@i'¥ g8 \ I |7 413+
//
C) 5 1%
(©) ayutrd 70?0 ©) 5 ||2,' |L1Qlk-}
- T i
(D) 4 Jrynad’ D) 4
94.  The graphs of the equations 2x + y=7and 94, GBI 2x +y =7 3R x -2y = 1 &7
Xx—2y=1are - ' Terg Arefd @var & — 2t K
(A) parallel lines (A) GHIAR Y@1Y L 43 A
(B) coincident lines %/ t- (B) <furdt Yam '
i -~ l'l" ; A
(C) intersecting at the point (1,3) " o (€) fdg (1, 3) w yfo=sdl ¥@n 2

PG .
(D) intersecting at the point (3, 1) ,1:/;/ j‘./s M@ (3. 1) X afd N >

- 3

.‘_b.-- N\ & y . v , \
95. The sum and the product of the roots of the . ;5 NG X2+ px+q=0 Jal ST AT @~
equations x> + px + ¢ = 0 are 4 and -3 Wm 4aiR 3E T@p IR q B

respectively. Then, the values of p and q are . \*  HF B B - % % =
ively - \Vh e
respectively ﬁ? ) & A) 43R3 .
(A) 4and3 v M. o &
AR (B) -43iR-3 y , &y (o
(B) -4and -3 - R o e . . Wi oy e
: V(GE/ (C) 43R 3 : /o,
(C) -4and3 e L,\j e
{D) 4 and -3 1
06, 1f2°=3"=6" Then the relation amonga b 96. ?Iﬁ? 21=3'=6" & T a b c P 7A
e . o  Hdy Brm — B [
and c 1S - @ v ., X * N
ab - K) o= 2 _ g2
(A) c= ;:—h . o a+b ‘\j‘: 4 2 .
A4 . :
L he n, N~
B) a=— . s B a=gE B
& b 0 . _ b
(C} b= c+a Y .Sgﬂqlﬁ v © b= c+a vt ey
atbh W (D) - ath
O = Aot VP e 9w
\
094 b 5 B
2SS e
| —— a, oy o _'
e 29 of 32 o f 4
2 5 )L3d Gl N’ ¢
[SOI-JEE] ] ¢
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97. A card is randomly drawn from a deck of
52 cards. The probability that this card

bears an even number in black or red is -

(A)
26

B) =
13

Cc) 5

26

(D) 10
13

98. If sin® + cos® = V3, then the value of
tan® + cot@ is -
(A) O
B) 1
(C) -1
D) 3

99.  The ratio of the volumes of two spheres is

27 : 64. The ratio of their surface areas will
be -
(A) 4:3

(B) 3:4
(C) 16:25
D) 9:16
100.  In afrequency distribution, the mid value of
a class is 10 and the width of the class is 6.
The upper limit of the class is -
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